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ENGINEERING MATHEMATICS II
' [7ime : 3 hours

- (Maximum marks : 100)‘

PART-—A
- (Maximum marks : 10}
| . ) Marks
1 Aﬁéwer.all q-uesti_'oxéls. Each question carries 2 marks.
I ifg=7r+3)-3Fand b =37 -7+ 27 find 2 b
2, Obtain the third term in { 77 ~L,)°,

3. Solveforxi'f\.:j; 12‘ = ()

4., -Evaluate J JET

5. Find the 1ntegratmg factor of & dx + yranx ot - (5x2=10)

PART — B
(Maximum marks : 30)

Il . Answer any five of the following questions. Each question carries 6 marks.

1. Ifa*‘3“+2;—2kandb 2"’+3j+k ’
" Calculate (i) (a"'>+b_>) (a ~ b7) and (i) (@~ + 5 )x("~ b )

2. Find the middle terms in the expansmn of (2x + 3)

3. Solve the followmg system of equations using determinants.
2x 3y +z=~l, 4x - y+3z=11, x +4y-2z=3.

4. IfA#[z' 2]a.ndB= [Z . 3],showthat 4By = Bt4?

5. Bvaluate [; x?e*dx. - |

6. Find the area enclosed by one arch of the curve y T=. sin3x and the x—axis‘.

7. Solve % + ytanx = sinx. . C (5x6=30)

4]




' _ Marks
PART — C '
_ (Maximum marks : 60) o
' (Answer one full question from each unit. Fach full queSﬁQn carries 15 marks) -
. Unir — 1
i (a) -Find the prolecmon of line joining (1,-2,- l) to (3,1,1) on the vector .
4737+ 12% ‘ ; _ ‘ 5
(b) -A force is represented in magnitude and direction by the line joining the _
pomt A(I -2,4) and B(5,2,3), find the moment about the pomt (-2, 3 ,5). 5
-(c) Expand (x _*] b1nom1ally ) " - 5
IV (a) The constant forces 27 — 57+ 6k, -T+ 27~k and 27+ 77" act on a particle
' from the position 47— 3"~ 7% to T+ 7 3% Find the total Workdone 5
.(b) Flnd the area of the parallelogram having adﬁcent mdes a= 3"+ 7-2%
;andb-a-3j"+4k o o S -5
) . 3 8
(¢) Find the constant term in the expansion of (4—3"- wf—x) . T 5
| | - UniT — 1
V (2) Find A and B if 2A + 3B :[% 2 ‘}] Cand A -+ 2B =[f . g] 5
' 12 2 - : A o
(b)",IfA=[2' 1 2] show that AZ — 4A — 51 =0 ' S , 5
o qx 13 RS T TR S
(© If {4 1 -1 =3 ¢ 1] findx - 5
- 2 0. 3] .10 2 g :
' - Or
i 2 .5 6, 7 _ : , _ :
VI (a) Solve ) +7 =3, T+ 3= 5 using determinants. : o S 5
(b} Solve the system of equations by finding the inverse of the coefficient matrix
'3x+y~z=3,_~x+y+z?l, x+y+z=3 -
oLl r1 31 PRSI |
© 1A~ [ ) 3], n-[ 3 3 ] wmac=[} 33 7]
‘ 3 1 2] -1 4 .
show that A(BC) = (AB)C. . R 5
" Unir — HI
‘ N[ _COSX 3 s [ 2x+3 . : : o
..VII (a) Evelluat;e (1)[, W'dx, (11.) | ez | dx. ' | 3+2
(b) BEvaluate [ sin’x dx. S _ .5
(¢) Evaluate [5 *logx dx. - 5

Or




VIII (a) Evaluate “’ 2 xsinxdv. - o o 5
(b) Evaluate fo ;z*z‘f—fl—l dx. , . . : ‘ . 5
- (c) ‘Evaluate f \{-—-m!—z—xé dx. - | o . . o 5
_ Unr — 1V ' | |
X (a) Obtam the area enclosed between the parabola y= X —x - 2 and the i
X-axis, . _ -5
(b} Find the volume of the parabolmd got by rotating the portlon of the | |
- parabola )/2 4x between x =0 and x = 2 about the x -axis. - 5
"~ (c) Solve :g +_,2ycotlx. = COSecx. ' - | . 5
_ : ‘ - Or
X -,(a) Fmd the Volume of the solid obtamed by rotatmg one arch of the curve . ‘
y= 33m2x about. the X-axis. : R 5
“(b) Solve—— = sec’x. - o : ’ 5
(c)—Solved—i-tr -I.:iz:o_ - : | I 5 




